Binomial Theorem

Short Answer Type Questions

Q. 1 Find the term independent of x, where x # 0,

15
10
—0 .

2
in the expansion of & -
2 3x0

® Thinking Process

The general term in the expansion of (x—a)" ie, T, , ;= "C,(%)" " (=a)". For the term

independent of x, put n —r =0, then we get the value of r.

15
2 0
Sol. Given expansion is BB _ 1H
a2 3x [
Let7, ., termis the general term.
15 -1
EB.’X,'Z 0 1 r
Then, T..="C 320 L
1 T'g2 g %Sx%

— 15C 315—r xSO = 2r or -15 (_1)r B
r
- 15C (_1)/ 315 —2f2l'—15x30 -3r
r
For independent of x,
30-3r=0
3r=300 r=10
T, 1 =T, =11th termis independent of x.
l:l 7:IO+1 :15C10(_1)1O 315—20 210—15

15C1Q 3—5 2 -5
15C1 0 (6)—5

“coflf
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10
Q. 2 If the term free from x in the expansion of ﬁ/; - Lzﬁ is 405, then find
X

the value of k.
10

Sol. Given expansion is %J} - %@ ,
X
Let7,,, is the general term.

RN

— 10Cr x 2 (_k)f
10 - 5r

="C x 2 (K
For free from x, 10; 5 - 0
0 10-5r=00 r=2
Since, T, , 4 =Ty is free from x.
O To.1 = 9C,(-k)? =405

[
0 10x9%8 12 = 408
21 x 8l
O a5k? =405 0 Kk2=2%-g
45

O k=%3

Q. 3 Find the coefficient of «x in the expansion of (1 — 3x + 7x%) (1

Sol. Given, expansion = (1 - 3x +7x2) (1 —x)'°.

=(1-3x +7x2 (160 116 _ 16C 115 1 16c2114x2 + o+ 16C16 x'%)

)
)
=(1-3x +7x%)(1 =16x +120x> +...)
O Coefficientof x = =3 =16 = =19

2
X

. : . : 2
Q. 4 Find the term independent of x in the expansion of %x - —ﬁ
@ Thinking Process

The general term in the expansion of (x —a)" ie, T, , ;= "C,(%)" ™" (=a)".

5

1
Sol. Given expansion is %ﬂx - %@ ,
X
Let7, ., is the general term.

0 T., 1SC )5 r%;@ 15C )15 T (=2 22

- 15Cr 315 - fx15 —3f(_2)f
For independent of x, 15-3r=00 r=5
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Since, T; . 4 = Ty is independent of x.

0 T5+1 :15C5 315—5(_2)5

_ _15x14x13 x12 x11 ><1O!EB1OE25
5x4x3x2 x1x10!

= -30033" 2°

Q. 5 Find the middle term (terms) in the expansion of
[0 0 30
Q) % —ﬁﬁ (i) Bx 20

X

@ Thinking Process
In the expansion of (a +b)", if n is even, then this expansion has only one middle term

e, % + 1§h term is the middle term and if nis odd, then this expansion has two middle

. +1 +1 )
terms e, %Qh and gz— + 1§h are two middle terms.
adl®
Sol. (i) Given expansion is % _7% .
X

Here, the power of Binomial i.e., n =10is even.

Since, it has one middle term % + @h termi.e., 6thterm.

0 AR Lo
Gy CS%QS%E
5 =5
= Sswaxazw GO BE
=-9 x4 x7=-252

9
W sg

(ii) Given expansion is [Bx — XA,
0 60

Here,n=9 [odd]

Since, the Binomial expansion has two middle terms i.e., é’%%h and é’% + @h

i.e., bthterm and 6thterm.
.0 %30
O Ts =T4sq) = °C,(3x)’ 45" E

_9x8x7 x6 x5!
4x3x2 x1x5|
1
_7x6x3x3 r_189 v
24 8

12 -4
3% x° 6
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x3

6

oo,

_:
D To =Ts4q = °Cs(3x)° 5%
=_9x8x7 x 6 x5l B Ot 'S (B

5Ix 4 x3x2 x1

3x2° 16

Q. 6 Find the coefficient of x° in the expansion of (x — x?)™.

Sol. Given expansion is (x - x2)'°.
Let the term T, _ , is the general term.
0 7—[ oq = 10Crx10—r(_x2)r
- (_1)r @Cr DC1O—r @2r
— (_1)r1ocr x10+r
For the coefficient of x'°,
10+r=150 r=5
T = (-1)° 1005 L
10x9x8x7 x6 x5!
5x4x3x2 x1x5|
=-3x2 x7 x6=-252

O Coefficient of x'° = -1

15
. . . 1 . . 1
Q. 7 Find the coefficient of —— in the expansion of @t[’ - —ﬁ .
17 3
X X
@ Thinking Process

In this type of questions, first of all find the general terms, in the expansion (x = y)" using
the formula T, ., ="C, x"~"(=y)" and then put n = r equal to the required power of x of

which coefficient is to be find out.
15

Sol. Given expansion is %x“ - %@ ,
X

Let the term T, . , contains the coefficient of %/’.e., x7"

X

- 10
0 T. = 15C,(x4)15 r%?%

X
- 15Cr x60 —4r (_1)rx—3r

- 15Cr xGO =7 (_1)f

For the coefficient x ™'/

60-7r=-17
O 7r=77 0 r=1
u Tiaq = 9Cyp 7=

O Coefficient of x~17 = ~19 X 14 x13 x12 x11l
111 x 4 x 3 x2 x1

=-15x7 x13=-1365
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Q. 8 Find the sixth term of the expansion (y“2+x%3)" if the Binomial

Sol.

coefficient of the third term from the end is 45.

Given expansion is (y"2 + x"/3)".

The sixth term of this expansion is
To =Ts g = "Coly"?) ™ (x%)° 0
Now, given that the Binomial coefficient of the third term from the end is 45.

We know that, Binomial coefficient of third term from the end = Binomial coefficient of third
term from the begining = "C,

"C, =45

0 w:%
21(n -2)!

O nin—1)=90
O n>-n-90=0
O n?> -=10n+9n -90 =0
O nin=10) + 9(n —10) =0
O (n=10)(n+9 =0
O (n+ 9 =00r(n-10=0
O n=10 [ n#-9]
From Eq. (i),

T, = 1°C, y*/2 x5/3 = 250)5/2 3513

Q. 9 Find the value of r, if the coefficients of (2r + 4)th and (r — 2)th terms in

Sol.

the expansion of (1+ x)'® are equal.

® Thinking Process
Coefficient of (r +1)th term in the expansion of (1+ x)" is "C,. Use this formula to solve
the above problem.
Given expansion is (1 + x)'8.
Now, 2r + 4)thtermie., T, | 5, 4.

0 T2(+3+1 :18C2r+3(1)18—2f—3(x)2r +3
:18C2r+3x2r+3
Now, (r—2)thtermie., T _5 ;4.
0 7}_3+1:18Cr_3xf—3
As, 1802r+3 = 1SCr—S [ ncx = nCy U o ¥ I’)]
U 2r+3+r-3=18
d 3r=18
O RS

Q. 10 If the coefficient of second, third and fourth terms in the expansion of

(1+ x)*" are in AP, then show that 21> — 9n +7 =0.

® Thinking Process

In the expansion of (x + y)", the coefficient of (r + )th term is "C,. Use this formula to get
the required coefficient. If a,b and c are in AP, then2b =a + c.
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Sol. Given expansion is (1 + x)°".
Now, coefficient of 2nd term = 2"C,
Coefficient of 3rd term = 2"C,
Coefficient of 4thterm = #"C,

Given that, 2"C,, 2"C, and #"C, are in AP.

Then, 20#"C, = 2"C, + ?"C,

0 > %n@n -1)@n —2)!5: 2n@2n = 1)! + 2n@2n-1@n -2)@2n - 3)!
02x1x@n=-2)! g (@n-1) 31@n - 3)!

0 nen-1=n+ n(2n—1g(2n—2)

0 n(12n = 6)=n (6 + 4n°> —4n -2n +2)

0 12n -6 =(4n° —6n + 8)

0 6(2n -1)=2@n® - 3n + 4)

0 3@n-1)=2n° -3n +4

0 2n° -3n+4-6n+3 =0

0 2n° =9 +7 =0

Q. 11 Find the coefficient of x* in the expansion of (1+ x + x% +x°)*".

Sol. Given, expansion=(1+x +x2 + &%) =[(1 + x)+ x°(1 + x)]"
=[(1+x)(1+ 2] =1 +a) 0 +27)"
Now, above expansion becomes
=(11CO +11C1x +”C2x2 +11ch3 +11C4x4 +"')(11CO + 11C1x2 +11C2x4 +.)
=(1+ 1Mx +55x% +165x° +330x* +...)(1+ 11x® + 55x% +...)
O Coefficient of x* = 55 + 605 + 330 =990

Long Answer Type Questions

8
Q. 12 If pis a real number and the middle term in the expansion of %+ 2@ is

1120, then find the value of p.
8
Sol. Given expansion is % + 2@ .

Here,n =8 [even]
Since, this Binomial expansion has only one middle term i.e., % + @h = bthterm

8 -4
Ts =T,y = °C, %@ 2°

1120=°C, p* @27 2*
|
1120:8><7><6><5 x4l 4
4lx 4 x3 x2 x1
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1120=7 x2 x5 xp*
pt =120 _4e 0 pt=ot

0 p°=40 p=+2

n
Q. 13 Show that the middle term in the expansion of @c - lﬁz is
x

1x3x5x...%x(2n —1) y

(-2)".
n!
1 2n
Sol. Given, expansion is %x - 7% . This Binomial expansion has even power. So, this has one
middle term. x
. n
.e. + 1gh =(n + Nth
ie., % % term = (n + N)thterm

_ 1 _
T ., = 2ncn(x)2n n %}@ — 2ncn xn(_.l)nx n

_ 200 (= (o 20) - TRBIAIB . 2 = 1) @)
n nin! n'n!
_ 1[8[5...(2/’7—1)@@[6...(2”)(_1)n
1280, n(n))
_ 10B(6...2n - 1).2"(12 [B...n)(-1)"
(12 B...n)(n")
[1BCE... 2n = 1)
n!

(-1

-2y Hence proved.

Q. 14 Find n in the Binomial ﬁi@+ %ﬁ' if the ratio of 7th term from the
.. 1
beginning to the 7th term from the end is o

n
Sol. Here, the Binomial expansion is %@ + i@ .

Y3
6
Now, 7thterm from beginningT, =T, , = "C¢(3/2)"~ 6 @’%Q ()

n
and 7thterm from end i.e., T, from the beginning of % + %@@

) 18 )
e, T.="C 32)°
j ,="Cq Q@Q *2) (i)
6[] 1 g 6
rouir R &
3 -6/3

Given that, Vel ol 2B 1

; 1 n 356 6 On-60 6

CG@!T@ 32) g3 03 Oxpe6/3
3
gr-6 -6gg-6 -6

0 é@s [23%%53[3 3 %:6‘1
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gn-6.60Q Qn-6_6Q n_y,
0 é@a 3%%83 3%26_1 O @3 =6
0 N_4=-p-=
3 3
0 n=9

Q. 15 In the expansion of (x + a)”, if the sum of odd terms is denoted by 0
and the sum of even term by E. Then, prove that
(i) 0% — F? =(x* —a°)".
(ii) 40F = (x +a)*" —(x —a)*".

Sol. (i) Given expansionis (x + a)”.
0 (x+a) ="C,x"a+ "Cix" 7'a' + "C,x" "2a° + "Cox" "% + ...+ "C,a"

Now, sum of odd terms

ie., 0 ="Cux" + "Cox""%a° + ...
and sum of even terms
ie., E="Cix" 'a+ "Cux" %% + ...
(x+a) =0+E (i)
Similarly, (x—a)’=0-E (i)
O O+E)O-E)=(x +a)" (x —a)’ [on multiplying Egs. (i) and (ii)]
0 O2 _ E2 :(x2 _82)17

(i) 40E=(O +E? -0 -EP =[(x +a)"]1 - [(x -a)"]? [from Egs. (i) and (ii)]

=(x+a —(x —a)?" Hence proved.

: : 1" :
Q. 16 If x” occurs in the expansion of @cz+—ﬁz , then prove that its
X

2n!
(4n — p)! (2n + p)!’
3! 3!

2n
Sol. Given expansion is %xz - l@ _
X

coefficient is

2n
Let x” occur in the expansion of %xz + l@ .

x
1 r
Trvq = chr(xz)zn_r%;§
= 2”C x4n —2rx—r - 2nc x4n -3r
r r
Let an-3r=p
O r=dn-pOr=2""P
! [
O  Coefficient of x? = 2"C, = l(f”)- | = 5 @n)! s
r'@n-r) - _4n-p
@%@ 20 3 :

n)! @n)!

e _
R B RES
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Q. 17 Find the term independent of x in the expansion of
1+ x +2x%) gxz -—

2_i9

Sol. Given expansionis (1+ x +2x°) %x 3
X

9
Now, consider %xQ - i%

%@9 S e fev=o B Bafle

Hence, the general term in the expansion of (1 + x + 2x°) %xQ - Si
X

-9 ggg_r%1§x18_3r+gc §§g_f%1§x19—3r +280 %g’_rgjgxm—sr
' 3 ' 3 ' 3

For term independent of x, putting18 — 3r =0,19 - 3r = 0and 21 - 3r = 0, we get
r=6r=19/3r=7

Since, the possible value of rare 6 and 7.

Hence, second term is not independent of X.

O The term independent of x is 9C6 %‘ %+2E?C 3 7%‘ @

| |
:Mi@-gMﬂld
Blx3x2 923 36 71x2 x1 22 37
_84 1 0362 _7 2 _21-4_17
8 33 4 3° 18 27 54 54

Objective Type Questions

Q. 18 The total number of terms in the expansion of (x +a)'® + (x —a
after simplification is
(@) 50 (b) 202 (c) 51 (d) None of these
Sol. (c) Here, (x +a)® + (x —a)"”
Total number of terms is 102 in the expansion of (x +a) ™ + (x —a)

50 terms of (x + a)'% cancel out 50 terms of (x —a)'®. 51 terms of (x + a)'®° get added
to the 51 terms of (x —a)'®.

Alternate Method
(x + a)100 + (x _a)1OO — 1OOCO x100 +1OO C1 x998 + .+ 1000100 a100

+‘IOOCO x‘IOO _ 1OOC1 x99a + .+ 1OOC100 a1OO

=2 [1OOCO x100 + 100C2 x98 a2 + .+ 100C100 a100]

51 terms

)100

100 100
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Q. 19 If the integersr > 1, n > 2 and coefficients of (3r)thand (r + 2)nd terms in
the Binomial expansion of (1 + x)*" are equal, then

(@n=2r (b)n =3r
(©n=2r+1 (d) None of these
@ Thinking Process

In the expansion of (x + y)", the coefficient of (r + 1th term is "C,.

Sol. (a) Given that, r>1, n>2 and the coefficients of (3r)th and (r + 2)th term are equal in the
expansion of (1 + x)>".

Then, Top =Tar 441 ="Cq_ x¥ 71

and Tvo=Taqeq=2"Cpq 2™

Given, NCy 1 =7"C, 44 [-"C,="C, O ¥ n]
O r-1+r+1=2n

0 4r

r=2n 0 n=—
2

O n=2r

Q. 20 The two successive terms in the expansion of (1+ x)** whose
coefficients are in the ratio 1 : 4 are

(a) 3rd and 4th (b) 4th and 5th
(c) 5th and 6th (d) 6th and 7th
Sol. (c) Lettwo successive terms in the expansion of (1 + x)2* are (r + 1thand (r + 2)thterms.
O Tr +1 = 240r xr
and 7—r+2:24cr+1xr+1
24
Given that, 5 C =1
Cr +1 4
(24)!
r'24 =)l _ 1
- ear 4
(r+ D@4 -r-1
0O (r+1)r!(23—r)!:1
r'4-r)@3-r)! 4
0 g g va=04-;
24-r 4
O 5r=200 r=4
b Toer=Ts and Ty, =Tg

Hence, 5th and 6th terms.
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Q. 21 The coefficient of x” in the expansion of (1+ x)*" and (1+ x)*" ~* are in

the ratio
(@1:2 (b)1:3
(©3:1 (d)2:1
Sol. (d) -+ Coefficient of x" in the expansion of (1 + x)*" = "C,,
and coefficient of x” in the expansion of (1+ x)*" ~' = 2"~'C_
en)!
2ncn B m

en-ic  n=1)

nl(n =1

@nm!nt(n-="1)!
nn!'@n-1)!

_2n@n=1)Inln -1

" nlnn-1)l@en -1
2n _2

== ===2:1
n 1

Q. 22 If the coefficients of 2nd, 3rd and the 4th terms in the expansion of
(1+ x)" are in AP, then the value of n is
(@) 2 (b) 7
(€ 11 (d) 14
Sol. (b) The expansion of (1 + x)" is "Cy + "Cix + "Cox® +"Cyx® + ... + "Cx"
O  Coefficient of 2nd term = "C,,
Coefficient of 3rd term = "C,,
and coefficient of 4thterm = "C,.
Given that, "C,, "C, and "C, are in AP.
0 2C,="C, +"C,
o ()L = () N ()]

. Hn-2)215 (-1 3in-3)!

0O 2Dh(n—1)(n—2)!:n(n—1)!+n(n—1)(n—2)(n—3)!
(n-2)21 (n =1 3@20(n - 3)!

0 nn-1=n+0 =10 2) %(” ~2)

O 6n—6=6+n> -3n +2

O N’ -9 +14=0

O n® -7n-2n+14=0

O nn-=7)-2n-7)=0

O (n=7)(n-2)=0

0 n=2orn=7

Since, n =2 is not possible.
g n=7
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Q. 23 If A and B are coefficient of x” in the expansions of (1+ x)*" and

_ . A
(1+ x)" " ! respectively, then 2 equals to

(@1 (b) 2

1 1
(©— (d) -

2 n

Sol. (b) Since, the coefficient of x” in the expansion of (1 + x)*" is ?"C,,.
0 A=2"C,
Now, the coefficient of x” in the expansion of (1 + x)*" ~"is 2" ~'C .
0 B — 2n —1Cn
2n
Now, é = # = g =2
B 2n —1Cn 9

Same as solution No. 21.

10
Q. 24 1f the middle term of % + xsin xﬁ is equal to 7%, then the value of x is

T T
2Nt + — b) nTt + —
(@) 2n . (b)n A

n

(c)nmt+ (-1) (d) nTt+ (-1)"

ol
wlA

10
Sol. (¢) Given expansion is % + xsinx% .

Since, n =10is even, so this expansion has only one middle term i.e., 6th term.
10-5

a Te=T5,1= 10C5%§ (xSiﬂx)S
O 6—83:10C5 x°x°sin’ x
0O 63 _ 10@BL¥ BLB! . 5

= = — " ginx

8 5 B2 0!

O 6—83:2[9[2D’|3in5x

5 1
u sinx = —

32

1921

O sinx = —

O
@
>
[&)]
®
1
o= g
[

0 x=nm+ (-1 W6
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Fillers

Q. 25 The largest coefficient in the expansion of (1+ x)% is ......... :
@ Thinking Process

In the expansion of (1 + x)", the largest coefficient is "C, , (when niis even).

Sol. Largest coefficient in the expansion of (1 + x)* = %°C, , = ¥C,,

Q. 26 The number of terms in the expansion of (x + y +2)" ......... .
Sol. Givenexpansionis (x + y + 2)" =[x +(y +2)]".
[x + (y+2)]" ="Cox" +"Cx" "y + 2)
+Cx" "2y + 27 + .+ Cply + 2

00 Numberofterms=1+2 +3 +... +n +(n +1)
(n+1)(n+2)
2

16
. 1 .
Q. 27 In the expansion of @cz - —zﬁ , the value of constant term is ......... .
x

Sol. LetconstantbeT

r+1:

O T, :16Cr(x2)16—r%%§
=160, x% —2r(_1)rxx—2r
=160 % 47 (-1

For constantterm, 32-4r=00 r=38

O Tg oy = 16C8

Q. 28 If the seventh term from the beginning and the end in the expansion of

1
2 + —[] are equal, then n equals to ......... .
%f b q q

. o 1
Sol. Given expansions is %@ + 7§ .
/3

6

O T =Tg 44 :nce(%)n_Gg%g ()

3

n
Since, T, from end is same as the T, from beginning of @Q/% + %@Q :
1 n-6
Then, T, = ”CGQ%Q 32 (i)
n-6 (n-6)
Given that, "Ce) 3 (33 ="Cy(3) 8 293
n-12 1 -12

’ @ =gt
which is true, when _312 =0.

U n-12=00 n=12
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10
Q. 29 The coefficient of a ®h* in the expansion of % - %ﬁ 1S eeeeenne .

@ Thinking Process
In the expansion of (x—a)", T, . ,="C, """ (-a)’

10
Sol. Given expansion is % - % ,

Let T, , , has the coefficient of a°b”.
10-r

_ 10~ I 2b(
U Tr+1 - Cr %% %?%
For coefficient of a®b*, 10-r=60 r=4
Coefficient of a*b* = 1°C, (-2 /3)*
_10BBITHE! 2 1120

O
6!MBRO 3* 27
Q. 30 Middle term in the expansion of (a*® + ba)®® is ......... .
Sol. Given expansion is (a° + ba)*®.

. n=28 [even]
0 Middle term = % + 1§h term = 15thterm
u Tis =g 4y

- 28014(33)28 —14(ba)14

— ZSC14 a42b14a14

= 280, g%p™

Q. 31 The ratio of the coefficients of x” and x in the expansion of (1+ x)P*?

1S tevevenes .
Sol. Given expansionis(1+ x)” "9,
0 Coefficient of x° =P *9C,
and coefficient of x7 = P *9C,

P+GC p+qC
P — P —

H prac  prag.
q P

1:1

Q. 32 The position of the term independent of x in the expansion of
Ulx L3 E

Let the constant term be T, , .
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Ox O 3d
Th 7.,=" *
Cf%\fsE bt
10-r

=10+r
:10Cr X 2 @B 2 B2 DC—Zr
10-5r -10 +3r
=%, x 2 3 2 27
For constant term, 10 - 5r =00 r=2
Hence, third term is independent of x.

Q. 33 1f 25" is divided by 13, then the remainder is ......... :
Sol. Let 25'° = (26 - 1)"°
— 15CO 265 — 15012614 + 5 Cys
=1°C,26"° - '°C,26'* +... -1 -13 +13
=19C, 26'° - °C, 26'* +... =13 +12
It is clear that, when 25'° is divided by 13, then remainder will be 12.

True/False

w 2 d M Cl
Q. 34 The sum of the series X 2°C, is 2" + — 2,
0

r =

Sol. False
10
Given series = 2 %C, =2, + °C, +2C, + ...+ C,,
r=0

- 20 20 20 20 20 _ (20 20
=200, +2%C, + ..+ 0C,) +2C,, +... °Cpy = (°C,; + ... +%° Cyp)
—n20 20 20

=220 - (0C,, + ... +%°Cyy)

Hence, the given statement is false.

Q. 35 The expression 7° + 97 is divisible by 64.

Sol. True
Given expression =7 + 9" =(1+ 8)" -(1 - 8)°
=('C, + 'C,8 + 'C,8 +... +'C,8") - (°C, - °C,8 + °C,8° ... - °C,8°)
=(1+7 x8+21x8 +..)-(1-9x8+36 x8 +... -8%
=(7x8+9x8)+ (21x8% —36 x8%) +...

=2 x64 + (21 -36)64 +...
which is divisible by 64.
Hence, the statement is true.

Q. 36 The number of terms in the expansion of [(2x + y*)*]’ is 8.

Sol. False
Given expansion is [x + y*)*)" = @x + y®)%8.
Since, this expansion has 29 terms.
So, the given statement is false.
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Q. 37 The sum of coefficients of the two middle terms in the expansion of
1+ x)*" " 1is equal to " ~'C,.

Sol. False
Here, the Binomial expansion is (1 + x)

Since, this expansion has two middle term i.e., W%h term and w + 1§h

termi.e., nthterm and (n + 1)th term.
0 Coefficient of nthterm = 2"~'C, _,

Coefficient of (n + Nthterm = " ~'C,,
Sum of coefficients = 2" ~'C,, _, + 2" 7'C,
=2n—1+1cn - 2ncn |:,._l’)(:r + Flcr_1 =n+1cr]

2n -1

Q. 38 The last two digits of the numbers 3° are 01.

Sol. True
Giventhat, 3% =9?® =(10 -1)*®
0 (10 = 1290 = 2000010200 _ 200C11O199 + (P 2000199101 n 2ooc200 1200
0 (10 = 1) =10%% =200 x10'® + ... =10 x200 +1

So, it is clear that the last two digits are 01.

: 1 :
Q. 39 If the expansion of @c - —zﬁz contains a term independent of x, thenn
x

is a multiple of 2.

Sol. False
2n
. . . o\ 1
Given Binomial expansionis fx — — .
Sl
Let T, ,,termisindependent of x.
_ 1d
Then, T.,=2"C(xf" "
r+1 r %xz %

- 2ncr x2n —r(_1)rx—2f — 2nCr x2n —3r(_1)f

For independent of x,

0 r==—,

which is not a integer.
So, the given expansion is not possible.

Q. 40 The number of terms in the expansion of (a + b)", where n N, is one
less than the power n.

Sol. False
We know that, the number of terms in the expansion of (a + b)", where nON, is one more
than the power n.





